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1. If one of the diagonals of a paralielogram is drawn, then the parallelogram is divided
into two congruent triangles.
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2. Given: AX=FH (T@B
AX L FB
FH 1 4B
Prove AB = FB
Mint: look at triangles BFH and BAX

3. Given: £1 = £2
AC =DC
Prove: BC bisects £ ABD




4. Complete the following:

Line 7V isa___rvhpcuersal becalise it intérsects tw lines i’ .
two distinct points. T
Corresponding Angles interior Angles
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Alternate Interior Angles Alternate Exterior Angles
L7 and LY L Zand & &
it and © 5 i {oand _ & &
. Given CD bisects £ ACB 6. A
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Find: m 2 CEA and m £ EAC if 5 :
1= mZACD = 52 +3x
Je*mLCEA =4x* +x + 15 A )

¢“m s 2 =6(3y + 2x) ~ 64
/fﬁmziS 33y —3(2x +y) -
fi'ms 4 =5 3(2x 5y)




